
Designed. Built. Supported in The USA.

FABRICATED TANK COMPONENTS
 P R O D U C T  C A T A L O G

MADE IN THE USA

National Vacuum Equipment, Inc.  

National Vacuum Equipment, Inc.  

National Vacuum Equipment, Inc.  

���������������������������_���Z�Z�Z���Y�D�F�S�X�P�S���F�R�P

�3�U�R�X�G�O�\���'�L�V�W�U�L�E�X�W�H�G���%�\��



2                                                   

Non-Code Products

Primary Shuto�s
8” Low Profile Lid ..................................................................................................................................4
12” Low Profile Lid .................................................................................................................................5
12” Primary .............................................................................................................................................6
20” Primary ............................................................................................................................................7
20” Primary - Cast Aluminium ............................................................................................................9
2”, 3”, 4” and 6” NPT Shuto� Assemblies ..........................................................................................10

Manways & Portals
12” Portals ...............................................................................................................................................11
20” Manways ...........................................................................................................................................12
20” Manways - Cast Aluminum Lid .....................................................................................................14
36” Manways ...........................................................................................................................................15

Secondary Shuto�s
4 Gallon ...................................................................................................................................................16
4 Gallon Low Profile ...............................................................................................................................17
10 & 14 Gallon..........................................................................................................................................18
10 & 14 Gallon Low Profile .....................................................................................................................20
25 Gallon .................................................................................................................................................21
45 Gallon .................................................................................................................................................22

Oil Catch Mu�lers
8” Oil Catch Mu�lers .............................................................................................................................23
8” Oil Catch Mu�lers Aluminum ..........................................................................................................23
12” Oil Catch Mu�lers Bolt-In Lid ........................................................................................................23
12” Oil Catch Mu�ler ..............................................................................................................................23

Float Level Indicators 
Float level indicator ...............................................................................................................................24

ASME Code Products

Float Level Indicators
Float level indicator ...............................................................................................................................24

Manways & Portals
12” Portals ...............................................................................................................................................26
20” Manways ..........................................................................................................................................27

Primary Shuto�s
12” Carbon Lid ........................................................................................................................................28
20” Carbon Lid .......................................................................................................................................29

Table Of Contents

Genuine National Vacuum Equipment Products | Proudly Distributed By Armstrong Equipment Inc. | ������������������������



2022 NVE Fab Mini Product Catalog | Rev. 01/18/22      Weights & Measurements are for reference only.      Prices subject to change at any time.         3

Vacuum Pumping System Components | Diagram

Float Level 
Indicator

E
F



4                                                   

Features:

•	 Weldable neck available in Carbon, 
Stainless Steel, and Aluminum

•	 6” Stainless Steel Ball Cage

•	 4” Stainless Steel Float Ball

•	 3” Buna Ball Seat

•	 Low Profile Design

•	 2” Hose Barb Connection

•	 Wingnut Closure

•	 5/8” Square Buna Gasket

•	 Aluminum Lid (CAST IN THE USA)

ITEM DESCRIPTION PART NUMBER

� LID �” CAST ALU �” HB 226-800-ALU

� GASKET �” LID BUNA 286-706-8L

� NECK �” X �” CARBON 228-0806-C

� NECK �” X �” ALU 228-0806-A

� NECK �” X �” SS 228-0806-S

� WASHER FLAT ALU �/�” DIA 280-875-AFW

� BALL CAGE �” ��� SS FOR CARBON AND NON 
CODE

282-600-1S

�� WINGNUT ASSY: WINGNUT, EYEBOLD, CLEVIS 
COTTER PIN

284-KIT-C

�� WINGNUT ASSY SS���: WINGNUT, EYEBOLT, 
CLEVIS COTTER PIN

284-KIT-S

�� FLOAT BALL �” SS 414-400-SS

�� CLAMP WORM �” BALL SEATS 416-300-1WC

�� BALL SEAT �” BUNA 416-300-B

��� HHCS 3/8” UNC 1” LG SS 

��� LOCK WASHER, �/�" SS

��� HEX NUT � �/� UNC SS

DESCRIPTION PART NUMBER WEIGHT

PSO �” X �” CARBON NECK, CAST ALU LID 
�” HB 200-0806-2HB �� lbs

PSO �” X �” ALU NECK, CAST ALU LID �” HB ����������HB �� lbs

PSO �" X �" SS NECK, CAST ALU LID �" HB ����������HB �� lbs

8” Low Profile Primary Shuto� 

8” Low Profile Primary Shuto� | Replacement Parts

8” Low Profile | Primary Shuto� - Aluminum Lid

Available with 
Lube Nuts

Genuine National Vacuum Equipment Products | Proudly Distributed By Armstrong Equipment Inc. | ������������������������



2022 NVE Fab Mini Product Catalog | Rev. 01/18/22      Weights & Measurements are for reference only.      Prices subject to change at any time.         5

Features:

•	 4” Buna Ball Seat

•	 Low Profile Design

•	 Wingnut Closure

•	 5/8” Square Buna Gasket

•	 6” or 8” Stainless Float Ball

•	 3” or 4” Hose Barb Connection

•	 Aluminum Lid [CAST IN THE USA]

•	 8” or 10” Corrosion Resistant Stainless Steel Ball Cage

•	 Weldable neck available in Carbon, Stainless Steel, and 
Aluminum

ITEM DESCRIPTION PART NUMBER

� LID 12" CAST ALU W/4" HOSE BARB ��������ALU��HB

� LID 12" CAST ALU W/3" HOSE BARB ��������ALU��HB

� GASKET ��” LID AND NECK BUNA ����������L

� NECK ��" X �" CARBON ���������C

� NECK ��" X �" ALU ����������A

� NECK ��" X �" SS ���������S

� WASHER FLAT ALU �/�” DIA ��������AFW

� BALL CAGE �" ��� SS ���������S

� BALL CAGE ��" ��� SS ���������S

� COTTER PIN .���” X �.�” SS ��������S

�.� BOLT TAB ADAPTER ��������S�

�� WINGNUT ASSY: WINGNUT EYEBOLT CLEVIS 
COTTER PIN ����KIT�C

�� WINGNUT ASSY SS ���: WINGNUT EYEBOLT 
CLEVIS COTTER PIN ����KIT�S

�� LUBENUT ASSY: LUBENUT EYEBOLT CLEVIS 
COTTER PIN ����KIT�CLN

�� FLOAT BALL �” ��� SS ��������SS

�� FLOAT BALL �” ��� SS ��������SS

�� CLAMP WORM �" BALL SEATS ���������WC

17 BALL SEAT �" BUNA ��������B

301 HHCS 3/8” UNC 1” LG SS

302 LOCKWASHER 3/8” SS

303 HEX NUT 3/8” SS

DESCRIPTION PART NUMBER WEIGHT

PSO ��” X �” CARBON BASE, ALU LID �” HB 200-1206-3HB �� lbs

POS ��” X �” CARBON BASE, ALU LID �” HB, ��” 
CAGE

200-1206-4HB-10 49 lbs

PSO ��” X �” ALU BASE, ALU LID �” HB 204-1206-3HB 32 lbs

PSO 12" X 6" ALU BASE, ALU LID 4" HB, 10" CAGE 204-1206-4HB-10 41 lbs

POS ��” X �” SS BASE ALU LID �” HB 208-1206-3HB 45 lbs

PSO 12" X 6" SS BASE, ALU LID 4" HB, 10" CAGE 208-1206-4HB-10 47 lbs

12” Low Profile Primary Shuto� 

12” Low Profile Primary Shuto� | Replacement Parts

12” Low Profile | Primary Shuto� – Aluminium Lid

PARTS LIST
DESCRIPTIONPART NUMBERQTYITEM

LID 12" CAST ALU W/4" HOSE BARB226-120-ALU-4HB11
GASKET 12" LID AND NECK BUNA286-706-12L12
RAW CAST LID 12" ALU802-226-120-ALU13
NECK, 12"X6", CARBON GOL228-1206-C14
DECAL, WARNING, RELIEVE PRESSURE280-10015
WASHER, FLAT ALUM, 7/8" DIA280-875-AFW36
BALL CAGE 8" 304 SS282-800-1S17
WING NUT ASSY284-KIT-C38
COTTER PIN, .125" X 1.5" SS280-704-S19
WINGNUT, CAST CARBON, PLATED284-102-CP110
Washer, Flat 7/8" for Carb WNFCP-FW78111
Wingnut, Cast Shldrd MachinedRC-908-1-A-M112
EYEBOLT, NON-CODE CS284-351-1CC113
CLEVIS PIN, STEEL NON-CODE284-400-1C114
FLOAT BALL 6" 304 SS414-600-SS115
CLAMP WORM 4" BALL SEATS416-400-1WC116
BALL SEAT 4" BUNA416-400-B117

FASTENER LIST
ITEM QTY PART NUMBER DESCRIPTION
301 3 HEX NUT - 3_8 UNC SS HEX NUT - 3_8 UNC SS
302 3 HHCS - 3_8-16 UNC X 1.25 SS HEX HEAD CAP SCREW - 3/8-16 UNC X 1.25" SS
303 3 LW - 3/8 SS LOCK WASHER, 3/8" SS

1

1

2

2

3

3

4

4

A A

B B

C C

D D

NVE National
Vacuum 

Equipment, Inc.
2707 Aero Park Drive, Traverse City, MI 49686
Phone: (231) 941-0215    Fax: (231) 941-2354

TOLERANCES UNLESS OTHER WISE SPECIFIED

One place (.X)                 ±.1
Two places (.XX)            ±.01
Three places (.XXX)       ±.005
Angles                             ±1°
Fractional (X/X)              ±1/16
All machined surfaces 125 RMS max.
Remove all burrs and sharp edges.
CAD drawing - NO manual changes.
All dimensions in inches unless specified.

This document may contain confidential trade
secret information which is the exclusive

property of National Vacuum Equipment.  Any
information on this drawing is not to be 

disclosed to anyone not having a "Need to
Know."   The information contained herein is to

be used only in accordance with the best
interests of National Vacuum Equipment.

PART NAME:

MATERIAL:

DRAWN BY:

SCALE:

CHECKED BY:

DATE:

MEM

PART NO.SHEET

1 200-1206-4HB1 of

 

APPROX. WT.CAD FILE LOCATION: I :\Engineering\CAD - Production\200-1206-4HB.idw

SHEET SIZE C

�������������/�%�6

PSO 12"  X 6"  ALU LI D 4"  HB

REVISION HISTORY
REV DATE DESCRIPTION ECN APPROVED ZONE

A 1/31/19 DRAWING CREATED FOR MARKETING   -
B 5/29/2019 DRAWING REVISED FOR MARKETING   -

3

6

16

17

15

5

9 15/16"

�P12 7/8"

4

12

18 3/8"

2

302

303

301

7

11

13

9

14

Available with 
Lube Nuts

 

7

15

17

16

6

4

12

302

303

301

2

9 15/16"

18 3/8"

12 7/8"

4" HB

11

13

14

9

1

 

7

15

17

16

6

4

12

302

303

301

2

9 15/16"

18 3/8"

12 7/8"

4" HB

11

13

14

9

1



6                                                   

12” Primary Shuto�

DESCRIPTION PART NUMBER WEIGHT

PSO ��" X �" CARBON BASE, CARBON LID �" NPT ����������NPT �� lbs

PSO ��" X �" CARBON BASE, CARBON LID �" NPT ����������NPT��� �� lbs

PSO ��" X ��" CARBON BASE, CARBON LID �" NPT ����������NPT �� lbs

PSO ��" X ��" CARBON BASE, CARBON LID �" NPT ����������NPT��� �� lbs

PSO ��" X �" SS BASE, STAINLESS STEEL LID �" NPT ����������NPT �� lbs

PSO 12" X 6" SS BASE, STAINLESS STEEL  LID 4" NPT ����������NPT��� �� lbs

ITEM DESCRIPTION PART NUMBER

� LID ��” �” NPT W/ GASKET ������������C

� LID ��" �" NPT W/ GASKET ������������C

� LID ��" STAINLESS STEEL �" NPT W/GASKET ������������S

� LID ��” STAINLESS STEEL �” NPT W/GASKET ������������S

� GASKET ��” LID AND NECK BUNA ����������L

� NECK ��" X �" CARBON ���������C

� NECK ��" X ��" CARBON ���������C

� NECK ��" X �" STAINLESS STEEL ���������S

� BALL CAGE �" ��� STAINLESS STEEL ���������S

� BALL CAGE ��" ��� STAINLESS STEEL ���������S

�� WINGNUT ASSY: WINGNUT EYEBOLT CLEVIS COTTER 
PIN ����KIT�C

�� WINGNUT ASSY SS���: WINGNUT EYEBOLT CLEVIS 
COTTER PIN ����KIT�S

�� LUBENUT ASSY: LUBENUT EYEBOLT CLEVIS COTTER 
PIN ����KIT�CLN

�� FLOAT BALL �” ��� STAINLESS STEEL ��������SS

�� FLOAT BALL �” ��� STAINLESS STEEL ��������SS

�� CLAMP WORM �" BALL SEATS ���������WC

�� CLAMP WORM �" BALL SEATS ���������WC

�� BALL SEAT �" BUNA ��������B

�� BALL SEAT �" BUNA ��������B

��� HHCS 3/8” UNC 1” LG SS 

��� LOCKWASHER 3/8” SS

��� HEX NUT 3/8” SS

12” Primary Shuto� 

12” Primary Shuto� | Replacement Parts

Features:

•	 Weldable neck available in Carbon, Stainless Steel, 
and Aluminum

•	 8” Corrosion Resistant Stainless Steel Ball Cage

•	 6” Stainless Steel Float Ball

•	 3” or 4” NPT Connection

•	 Wingnut Closure

•	 5/8” Square Buna Gasket

PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION

1 1 226-012-400-C 12 " LID W/ GASKET & 3" NPT
2 3 280-905-1CC WELDMENT UPPER EYEBOLT GOL CODE
3 1 286-706-12L GASKET 12" LID AND NECK BUNA
4 1 428-404-1C PIPE 4"x4" TOE
5 3 740-103-C BOLT TABS LID SHUT OFF
6 1 814-12060-CC ANGLE 11 GA FORMED CODE 60" LONG
7 1 822-120-CC HEAD F&D 12" CODE CARBON
8 1 228-1206-C NECK, 12"X6", CARBON GOL
9 1 282-800-1S BALL CAGE 8" 304 SS
10 3 284-KIT-C WING NUT ASSY

PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION

11 1 280-704-S COTTER PIN, .125" X 1.5" SS
12 1 284-102-CP WINGNUT, CAST CARBON, PLATED
13 1 FCP-FW78 Washer, Flat 7/8" for Carb WN
14 1 RC-908-1-A-M Wingnut, Cast Shldrd Machined
15 1 284-351-1CC EYEBOLT, NON-CODE CS
16 1 284-400-1C CLEVIS PIN, STEEL NON-CODE
17 1 414-600-SS FLOAT BALL 6" 304 SS
18 1 416-400-1WC CLAMP WORM 4" BALL SEATS
19 1 416-400-B BALL SEAT 4" BUNA

FASTENER LIST
ITEM QTY PART NUMBER DESCRIPTION

16 3 284-400-1C CLEVIS PIN, STEEL NON-CODE
12 3 284-102-CP WINGNUT, CAST CARBON, PLATED
14 1 RC-908-1-A-M Wingnut, Cast Shldrd Machined
13 1 FCP-FW78 Washer, Flat 7/8" for Carb WN
15 3 284-351-1CC EYEBOLT, NON-CODE CS
11 3 280-704-S COTTER PIN, .125" X 1.5" SS
300 3 HHCS - 3_8-16 UNC X 1.00 SS HEX HEAD CAP SCREW - 3_8-16 UNC X 1.00 SS
301 3 LW - 3/8 SS LOCK WASHER, 3/8" SS
302 3 HEX NUT - 3_8 UNC SS HEX NUT - 3_8 UNC SS

1

1

2

2

3

3

4

4

A A

B B

C C

D D

NVE National
Vacuum 

Equipment, Inc.
2707 Aero Park Drive, Traverse City, MI 49686
Phone: (231) 941-0215    Fax: (231) 941-2354

TOLERANCES UNLESS OTHER WISE SPECIFIED

One place (.X)                 ±.1
Two places (.XX)            ±.01
Three places (.XXX)       ±.005
Angles                               ±1°

All machined surfaces 125 RMS max.
Remove all burrs and sharp edges.
CAD drawing - NO manual changes.
All dimensions in inches unless specified.

This document may contain confidential trade
secret information which is the exclusive

property of National Vacuum Equipment.  Any
information on this drawing is not to be 

disclosed to anyone not having a "Need to
Know."   The information contained herein is to

be used only in accordance with the best
interests of National Vacuum Equipment.

PART NAME:

MATERIAL:

DRAWN BY:

SCALE:

CHECKED BY:

DATE:

�W�H�U�U�\�U

PART NO.SHEET

�� �� 200-1206-4NPT�� ��of

 

�6�(�(���%�2�0

APPROX. WT.CAD FILE LOCATION: I :\Engineering\CAD - Production\200-1206-4NPT.idw

SHEET SIZE C

�������������/�%�6

�3�6�2���� �� �����; ���� ���������� �����1�3�7

REVISION HISTORY
REV DATE APPROVED DESCRIPTION ZONE

A 10/12/12 ECN 1738 CREATED FOR PRODUCTION  
B 5/30/2019  REVISED FOR MARKETING -

�P12 7/8"

10 1/2"

19 1/16"

8

9

302

301

300

17

19

18

3

146

7

4
R6.750

�P20.217

4" NPT

Available with 
Lube Nuts

 

 

12 7/8"

19 1/16"
3 1/4"

8 9/16"

4" MNPT

8

9

302

301

300

17

19

18

3

14

1

 

 

12 7/8"

19 1/16"
3 1/4"

8 9/16"

4" MNPT

8

9

302

301

300

17

19

18

3

14

1

Genuine National Vacuum Equipment Products | Proudly Distributed By Armstrong Equipment Inc. | ������������������������



2022 NVE Fab Mini Product Catalog | Rev. 01/18/22      Weights & Measurements are for reference only.      Prices subject to change at any time.         7

20” Primary Shuto�

DESCRIPTION PART NUMBER WEIGHT

PSO ��" X �" CARBON BASE, CARBON 
LID �" NPT ����������NPT �� lbs

PSO ��" X �" CARBON BASE, CARBON 
LID �" NPT, ��" CAGE ����������NPT��� ��  lbs

PSO ��" X �" CARBON BASE, CARBON 
LID �" NPT ����������NPT ��  lbs

PSO ��" X ��" CARBON BASE, CARBON 
LID �" NPT ����������NPT ��  lbs

PSO ��" X �" ALU NECK, SS LID �" NPT ����������NPT ��  lbs

PSO ��" X �" ALU NECK, SS LID �" NPT ����������NPT ��  lbs

PSO ��" X �" ALU NECK, SS LID �" NPT, 
��” CAGE ����������NPT ��  lbs

PSO ��" X �" ALU NECK, SS LID �" NPT ����������NPT ��  lbs

PSO ��" X �" SS BASE, SS LID �" NPT ����������NPT ��  lbs

PSO ��" X �" SS BASE, SS LID �" NPT ����������NPT ��  lbs

PSO ��" X �" SS BASE, SS LID �" NPT ����������NPT ��  lbs

PSO ��" X ��" SS BASE, SS LID �" NPT ����������NPT ���  lbs

Features:

•	 Weldable neck available in Carbon, Stainless 
Steel, and Aluminum

•	 Lid available in Carbon or Stainless Steel

•	 6”, 8” or 10” Corrosion Resistant SS Ball Cage

•	 4”, 6” or 8” Stainless Steel Float Ball

•	 2”, 3”, 4” or 6” NPT Connection

•	 Wingnut Closure

•	 5/8” Square Buna Gasket

20” Primary Shuto� 

Available with 
Lube Nuts

 

 

21

8

4

5

10

12 11

9

17

15

20 1/4"

6 5/8"

3 1/4"

12 1/4"

3" MNPT

 

 

12 7/8"

19 1/16"
3 1/4"

8 9/16"

4" MNPT

8

9

302

301

300

17

19

18

3

14

1






























































